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CHEMISTRY

PHYSICAL, INORGANIC, AND ORGANIC CHEMISTRY

ALDEHYDES, KETONES, CARBOXYLIC ACID

Organic Chemistry Aldehydes Ketones Carboxylic Acid

1. Which of the following reagents can be used to convert but—1 — yne
to butanone ?

A K20r207/H+

B. dI|H2504 /HgSO4

C.CrOs in presence of (CH3CO),0

D. 03/Zn — HzO

Answer: 2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4362uPRMuP5K

° Watch Video Solution

- CH . |
3 CrO, >P
| (CH,C0),0
- e
KMnO /HO/A >Q

2 The products P & Q are respectively

The products P & Q are respectively

CH,OH COCH
(1) and
CHO CH,0H
@) and
B.
COOH COCH,
&) and
C.
CHO COOH
@) and
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4362uPRMuP5K
https://dl.doubtnut.com/l/_2UWppVHhShBE

3. Observe the following compounds

CHO

() )] (lll)

b

The correct reactivity order of above compounds towards nucleophilic
addition reaction is :

AIIl >1>1I>1V

B.II > 1V > 1> 111

CIII>II>1IV >1

D.IV > II > 1> III

Answer: 1

o Watch Video Solution



https://dl.doubtnut.com/l/_IkdNySIG9ZZC

2, 4-DNP

> +ve
Tollen's Test

dil alk.KMnO,
X(CH40) -
K,CryO, ! Ha /A » Carboxylic acid

>
rd

—> —ve

4.

The compound X can be

(o]
Il
CH,-C-CH,
T
C
1)@:;%“' @’m -
i
D (3)@’ cccccc ”m/©/ Aon,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_N6A5BRXQTHQ5

5.CH,CHO + CH,CH,CHO 228

The number of product (s) in the above reaction is ( are) ( excluding

stereoisomers )

Al
B.2
C.3

D.4

Answer: 4

° Watch Video Solution

@—cnm»cn CHo-—"—L"i"—’i-» P+Ho-2=’—zﬂl“i‘l—»o+®—0\40'
6 .

The porduct is :

A.CH3CHO


https://dl.doubtnut.com/l/_yM8NQAhxR79j
https://dl.doubtnut.com/l/_beYC1lAWD5e0

B.HCHO

C.HCOOH
D.OHC — CHO
Answer: 4

o Watch Video Solution

H®
7.3CH3CHO — P
298K

Product P is a pleasant smelling liquid (p. b410K). . It is used as a

hypnotic. The structure of Pis :

A.CHs; - CH =CH - CHO

H,

(2)
CH{ CH,

C.CHs — |C’H — CH; — CHO

OH



https://dl.doubtnut.com/l/_beYC1lAWD5e0
https://dl.doubtnut.com/l/_xkxadKqt2wPw

G

Answer: B

° Watch Video Solution

8. If 3 — hexanone is reacted with NaBH, followed by hydrolysis with

D;0 , the product will be :

A.CHs —CHy, — CH - CHy, — CHy; — CHj;
\

OD
D

\
B.CH; —CHy, — C — CH, — CHj
\

OD
D

|
C.CH; — CH, — C — CH, — CH, — CH,
|

OH

D.CH; — CHy — CH — CH; — CHys — CH;
\

OH

Answer: 1

| o A _L vl . o ~_ 1.0 ]



https://dl.doubtnut.com/l/_xkxadKqt2wPw
https://dl.doubtnut.com/l/_jfGtBeUq2lOh
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9. Which of the following compounds is most acidic ?

A.CH3sCOsH
B. (CH3)2CH002H
C.CH3CH,COyH

D.CCl3sCOH

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jfGtBeUq2lOh
https://dl.doubtnut.com/l/_xMThnM6Tm7fD

10. The treatment

concentrated KOH gives

(1

of

with


https://dl.doubtnut.com/l/_zIW18vqmDVVt

CH,0H
0@
CHO
D.

Answer:

° Watch Video Solution

11. The compound which readily undergoes decaroxylation is

A.HOOC — CH, — COOH
B.C¢Hs — COOH
C. HOOC — (CH), — COOH

D.CHy — CHy — CHy — COOH

Answer: 1

o Watch Video Solution



https://dl.doubtnut.com/l/_zIW18vqmDVVt
https://dl.doubtnut.com/l/_QthXTlQdJkmV

12. The compound which would yield 5 — Oxo—2 — methylhexanal on

reductive ozonolysis

oY
2) d
B.
o (N
C.
@)
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Se7KwG96cyNf
https://dl.doubtnut.com/l/_Aiww9B10vDcD

13. Which of the following on heating does not form an anhydride ?

A. Oxalic acid

B. Succinic acid

C. Glutaric acid

D. Maleic acid

Answer: 1

o Watch Video Solution

v
R

COCH,
Q () KMnO4/KOH
H,C @iy H®

The productP is :

14.

A.N/A

B. N/A


https://dl.doubtnut.com/l/_Aiww9B10vDcD
https://dl.doubtnut.com/l/_H8PEdAoiOl1y

C.N/A

D.N/A

Answer: 3

° Watch Video Solution

15.
CH;COOH H — COOCH; CH; — CONH, CH; — CH, — CH, —C
(1) (I1) (I1) (IV)

ItBRgt The correct increasing order of boiling points is

Al <IV <1I<III

BI<II<III<IV

CIV <II <I<III

D.III < I <1V <1II

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_H8PEdAoiOl1y
https://dl.doubtnut.com/l/_abDapw3T2ueI

16. Dry distillation of calcium acetate gives :

A. Actaldehyde
B. Ethane
C. Acetic acid

D. Acetone

Answer: D

° Watch Video Solution

17. Which one of the following reaction is called Rosenmund reaction ?

A. Aldehydes are reduced to alcohols
B. Acids are converted to acid chlorides
C. Alcohols are reduced to hydrocarbons

D. Acid chlorides are reduced to aldehydes


https://dl.doubtnut.com/l/_abDapw3T2ueI
https://dl.doubtnut.com/l/_IUrtb3HbM0ll
https://dl.doubtnut.com/l/_YEs3QKjfE9sl

Answer: 4

° Watch Video Solution

18.RCOOH after treatment with PCl; and KCN is subjected to hydrolysis

followed by Clemmension's reduction, product obtained as

A.RCH,COOH

B. RCH,COC!

C. RCOCN

D. RCN

Answer: 1

° Watch Video Solution

19. In order to get propane gas which of the following should be

subjected to soda lime decarboxylation?


https://dl.doubtnut.com/l/_YEs3QKjfE9sl
https://dl.doubtnut.com/l/_rar7RXPpMzMm
https://dl.doubtnut.com/l/_ewPQ7Gcsc1zo

A. Sodium formate

B. Mixture of sodium acetate and sodium ethanoate

C.Sodium butyrate

D. Sodium propionate

Answer: C

o Watch Video Solution

20. Acetic acid reacts separately with the following alcohols. The rate of

esterification is higher for :

A.CH;OH
B. C, H;OH
c.(CH,),CHOH

D. (CH;),COH

Answer: 1



https://dl.doubtnut.com/l/_ewPQ7Gcsc1zo
https://dl.doubtnut.com/l/_4pcuKG00N5eI

| ° Watch Video Solution

21. Phenol can be converted into salicyclic acid by :

A. Cannizaro's reaction
B. Perkin's reaction
C.Tischenko reaction

D. Reimer-Tiemann reaction

Answer: D

° Watch Video Solution

22. A new carbon-carbon bond formation is possible in:

A. Cannizaro reaction
B. Reimer- Tiemann reaction

C. HVZ reaction


https://dl.doubtnut.com/l/_4pcuKG00N5eI
https://dl.doubtnut.com/l/_l4OnmJjkGY4L
https://dl.doubtnut.com/l/_vfWrnU753Uhr

D. Schmidt reaction

Answer: 2

° Watch Video Solution

23. Aldehydes and ketones are distinguished by using :

A. Lucas reagent

B. Hinsberg reagent

C. Tollen's reagent

D. All of these

Answer: 3

o Watch Video Solution



https://dl.doubtnut.com/l/_vfWrnU753Uhr
https://dl.doubtnut.com/l/_rgwH8Pc3NsWg

24. When acetamide reacts with Brs in presence of NaOH, there is a

formation of :

A.CH;NH,

B. CH;CN

C.CH;CH,OH

D.CH3CHO

Answer: 1

o Watch Video Solution

HighTem,;
25.R — CH = CH, + CO + H, H:P—p> RCH,CH,CHO.
lg ressure

A. Mendius reaction

B. Oxo process

C. Sandmeyer reaction

D. Stephen's reaction


https://dl.doubtnut.com/l/_wxdhAewt1z5o
https://dl.doubtnut.com/l/_efH5ipErbK21

Answer: B

° Watch Video Solution

X
26.C,H, — CH — CHCHO % 0 H,CH = CH,0H

In the above sequence (X) can be:
A.H, / Ni
B. NaBH,
C. K20T207/H+

D.Both (1) and (2)

Answer: 2

° Watch Video Solution



https://dl.doubtnut.com/l/_efH5ipErbK21
https://dl.doubtnut.com/l/_ZPiPbOqefIQ2

Ol (1) Conc. KMnOg /H® . p
A

The product P is :
27. ‘

The product Pis :

o
O

@)
S0y

O
o,

Answer: 2

A

f


https://dl.doubtnut.com/l/_JRfOcTtjt2qj

| o Watch Video Solution

o o
|l ||
28. The diketone CH3; — C — (CH,), — C — CHj on intermolecular

aldol condensation gives the final product

(2) &\C
B. H,
(3) &0‘
M,


https://dl.doubtnut.com/l/_JRfOcTtjt2qj
https://dl.doubtnut.com/l/_LNSOlgN79dtO

Answer: 3

° Watch Video Solution

HgSO, = CH;MgBr _ P/Br .
29.CH = CH s A s B s C. HereCis :
H,S0, H,0

B. CH3 - CH2 — CH2 — Br
C. CH2 = CH — Br

D.Br — CH = CH — CH,

Answer: 1

o Watch Video Solution

30. In which of the following reactions, the product obtained is chiral ?

A CH,COCH, 2%


https://dl.doubtnut.com/l/_LNSOlgN79dtO
https://dl.doubtnut.com/l/_e0D1xxDHl51s
https://dl.doubtnut.com/l/_Zza1NoIr0RZ2

Rosenmund reduction
AN

B. CH;COC! 8

Sn.HCI
C. CH3CHQCOCHQCH3 E—

b. CH,CH,COCH, “*™%

Answer: D

o Watch Video Solution

31. After completion of the reactions (I and II) , the organic compounds

(s) in the reaction mixtures is :

/LOI\ Br, (1.0 mol)
Reaction | : -_
HC i omoC > aueous/ NaOH -

. Br,(1.0 mol)
Reaction Il : /8\ —_—

CH, CHCOOH

7 (1.0 mol)
i k k CHBr,

H,C CH,Br H,C CBr, Br,C CBr, BrH,C CHBr H,C ONa
P Q R S T U

A.Reaction I: P and Reaction II: P
B. Reaction I: U, acetone and Reaction I1: (), acetone

C.Reaction I:T', U, acetone and Reaction II: P


https://dl.doubtnut.com/l/_Zza1NoIr0RZ2
https://dl.doubtnut.com/l/_3ejd8AW572CF

D. Reaction I: R, acetone and Reaction II: S, acetone

Answer: 3

o Watch Video Solution

32.In the following sequence of reaction :
(i CH,MgEr/ether,
(i)

BrCl . n
oo, > Q (major)

- P {major)
CH;~CH=CH-CHO—

Product P and Q are respectively :

Cl

\
A.CHs3 — |C’H— CH,CHO & CHs;—-CH —-CH —- ‘CHO

CHy Br

OH Br

| |
CH; -CH=CH-CH-CH; & CH3—CH—|C’H—CHO

Cl
Br

|
C.CH3—|C’H2—C’HO & CH3—CH—‘CH—CHO

CH; a


https://dl.doubtnut.com/l/_3ejd8AW572CF
https://dl.doubtnut.com/l/_mMNOeRT4xsRM

OH Cl

| |
CH; —-CH=CH-CH-CH; & CHg—CH—|CH—CHO

Br

Answer: 4

° Watch Video Solution

—o‘H-pE“-,x KN v _H0® , 7
3,

incorrect ?

3 Which is

. mzs S)-oncooc
@Xs @ Car,
@ vis (O)—cHron
e Sy-cro

Answer: 2

[ )|


https://dl.doubtnut.com/l/_mMNOeRT4xsRM
https://dl.doubtnut.com/l/_HStGpGwtDrD4

| Y Watch Video Solution

(i) LIAIH,
(i) H® > P
@rCONH, NaOH+Br, .
POy
‘>
heat R

34.

Which is incorrect :

A.Pis 2 — phenylethanamin

B. Q is anilin, process is Hofmann's bromamide

C.Ris benzene carbonitrile, process is dehydration

D. formation of P, involves reduction

Answer: 1

o Watch Video Solution



https://dl.doubtnut.com/l/_HStGpGwtDrD4
https://dl.doubtnut.com/l/_rYyybGEh5UBN

35. Observe the following reaction

HCN (excess) Hg%/ A
CH, — ﬁ’ — CH; — ﬁ’ — CH» > > Products

o ]

The correct statements (s) is / are

A.The product is a mixture of two compounds

B. The product is optically active

C.The product is a mixture of two chiral and one achiral
stereoisomers

D. The product is a mixture of four stereoisomers.

Answer: 3

o Watch Video Solution

36. Which of the following will not give 3 — pentanone.

A (CH; — CH,COO),Ca


https://dl.doubtnut.com/l/_w5r11ZOoYNQc
https://dl.doubtnut.com/l/_2yZph6jmjdiH

B.CH; — CH, — ‘C’H— CH — CH; ——5
|

OH Br

o o
|| | (1)H,0/H*
CCH3—0—0H2—0H2—0—002H5 >
(2) NaOH (CaO)
o o
[ || A
CH;

Answer: 3

o Watch Video Solution

37.1In the following reaction

o}

Me_@_g_H iy R, ,Me—@—iCH = CH-COOH

ACH,-C—-0O—-H

Br
o o
||

BH-C-C-0-H

I
CCH;—C—-0—H

D. (CH,C0),0


https://dl.doubtnut.com/l/_2yZph6jmjdiH
https://dl.doubtnut.com/l/_5Q8TkiSftiFh

Answer: 4

° Watch Video Solution

38. Order of hydrolysis for the following is

() RCOC!I (II)RCOOR

() RCONH, (IV)(RCO),0
Al>1V >1II> 111
B.I>1II>III>1V
CI>III>II>1V

D.IV > III > 1II > 1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5Q8TkiSftiFh
https://dl.doubtnut.com/l/_JquEYhTq4MqD

39.

‘ 2
CH3CH,CH>,CH>,CH,COOH — CH,CH>,CH>Cl™ — C H - COOH

the reagents used in the conversion are:
A. (i)PBT‘3(ii)NH3
B. (¢)redP / Bra(it) N H3(excess)
C.(¢)PBrs, NaCN(ii)LiAlH,4

D. None of the above

Answer: B

o Watch Video Solution

% NaO
40.2HCHO 2% CH,0H + HCOONa

This reaction is called :

A. Aldol condensation

B. Tischenko reaction


https://dl.doubtnut.com/l/_l2JNL9WY7K99
https://dl.doubtnut.com/l/_WgXFggSukhP4

C. Cannizaro reaction

D. Reimer Tiemann reaction

Answer: 3

o View Text Solution



https://dl.doubtnut.com/l/_WgXFggSukhP4

